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Chunnaic 
Calum  
Mairi.

see.past 

Calum 
Mairi

‘Calum saw Mairi.’

Dh’òl 

Calum an 
[t-uisge beatha].

drink.past 
Calum the 
[whisky]
‘Calum drank the whisky.’

Bha 

Calum 
ag 

òl 


[uisge beatha].

be.past 
Calum 
prog 
drink.vn whisky

‘Calum was drinking whisky.’

Tha 

Calum 
faiceallach.

be.pres 
Calum 
careful

‘Calum is careful.’ Or ‘Calum is being careful’

Tha 

Calum anns a’ 
bhùth.

be.pres 
Calum in 
the 
shop

‘Calum is in the shop.’

Chunnaic 
mi 
Calum agus e 

ag 

òl 


[uisge beatha].

see.past 

1s 

Calum and 
3sm 
prog 
drink.vn [whisky]
‘I saw Calum and him drinking whisky.’ (while he was drinking whisky)
Note: AZSGP speaker prefers esan to e here.
Chunnaic 
mi 
Calum fhad 
‘s 

a 

bha 

e 

ag 

òl 


[uisge beatha].

see.past

1s

Calum length 
cop 
wh-C be.past
3sm
prog
drink.vn
[whisky]
I saw Calum while he was drinking whiskey

Note: not in A&R, form volunteered by AZSGP speaker.

Chunnaic 
mi 
Calum 
agus 
e 

air a


 
mhisg.

see.past 

1s 

Calum 
and 
3sm 
on 3sm.poss 
drunkenness

‘I saw Calum while he was drunk.’

Note: AZSGP speaker prefers esan to e here.
Chunnaic 
mi 
Calum 
agus 
e 

uamhasach 
toilichte

see.past 

1s 

Calum 
and 
3sm 
terribly 

happy

‘I saw Calum while he was really happy.’

Note: AZSGP speaker prefers esan to e here.
Chunnaic 
mi 
Calum 
nuair a 


bha 

e 

uamhasach toilichte.
see.past 

1s 

Calum 
when
wh-C

be.past 
3sm 
terribly 

happy

‘I saw Calum while he was really happy.’

Note: not in A&R, form volunteered by AZSGP speaker.

Chunnaic 
mi 
Calum 
fhad 

‘s 

a 


bha 

e 

uamhasach toilichte.

see.past 

1s 

Calum 
length
cop
wh-C

be.past 
3sm 
terribly 

happy

‘I saw Calum while he was really happy.’

Note: not in A&R, form volunteered by AZSGP speaker.

*Tha 

Calum tidsear.

be.pres 
Calum teacher

‘Calum is a teacher.’

Note: *NP predicate with tha.

Note: UNGRAMMATICAL
*Chunnaic 
mi 
Calum agus 
e 

tidsear.

see.past 

1s 

Calum and 

3sm 
teacher

‘I saw Calum while he was a teacher.’

Note: *NP predicate in small clause
Note: UNGRAMMATICAL
Tha 

Calum 
’na 



thidsear.

be.pres 
Calum 
in.3sm.poss 
teacher

‘Calum is a teacher.’

Chunnaic 
mi Calum 
agus 
e 

’na 



thidsear.

see.past 

1s Calum 
and 
3sm 
in.3sm.poss 
teacher

‘I saw Calum while he was a teacher.’

Note: AZSGP speaker prefers esan

Chunnaic 
mi 
Calum 
fhad 

‘s 

a 

bha 

e 

’na 



thidsear.

see.past

1s

Calum
length
cop
wh-C
be.past
3sm
in.3sm.poss

teacher

I saw Calum while he was a teacher

Note: not in A&R, form volunteered by AZSGP speaker.

Tha 

mi 
’nam 


thidsear.

be.pres 
1s 

in.1s.poss 
teacherd
‘I am a teacher.’

*Tha 

Calum an 
tidsear.

be.pres 
Calum the 
teacher

‘Calum is the teacher.’

Note: *DP predicate with tha
Note: UNGRAMMATICAL
*Chunnaic 
mi 
Calum agus 
e 

an tidsear.

see.past 

1s 

Calum and 

3sm 
the teacher

‘I saw Calum while he was the teacher.’

Note: *DP predicate in small clause
Note: UNGRAMMATICAL
*Bhuail 
mi 
Calum 
agus 
e 

mo 

bhràthair.

hit.past 
1s 

Calum 
and 
3sm 
1s.poss 
brother

‘I hit Calum while/though he was my brother.’

Note: *DP predicate in small clause

Note: UNGRAMMATICAL
Bhuail 
mi 
Calum ged 


is 

esan mo 


bhràthair.

hit.past 
1s 

Calum although 
cop
3sm 1s.poss 
brother

‘I hit Calum while/though he was my brother.’

Note: not in A&R, form volunteered by AZSGP speaker.

*Bhuail 
mi Calum agus 
e 

an 

càraid as 
fheàrr 

agam.

hit.past 
1s 
Calum and 

3sm 
the 
friend cmp 
good.deg 
at.1s

‘I hit Calum while he was my best friend.’

Note: *DP predicate in small clause
Note: AZSGP speaker says this is completely grammatical
Note: UNGRAMMATICAL
*Tha 

Calum anns 
an tidsear.

be.pres 
Calum in 

the teacher

‘Calum is the teacher.’

Note: "there is no way of 'saving' this structure by using extra morphological material, such as 

the 'ann' particle" (as it was with the NP)-p334
Note: UNGRAMMATICAL
Is 



mòr 
an 

duine
sin.

Cop.pres 
big 
the 
man
prox
‘That man is big.’

Note: Inverted Copluar Construction, present, AP predicate

Note: AZSGP speaker says she wouldn’t say but ok

Is 



le 

Calum an cù.

cop.pres 
with 
Calum the dog

‘The dog belongs to Calum.’

Note: Inverted Copular Construction, present, PP predicate

Note: AZSGP speaker says this is ok as a set of pair listings.
Tha

an 

cu 

le 

Calum
be.pres 
the 
dog 
with 
Calum

The dog belongs to Calum

Note: not in A&R, form volunteered by AZSGP speaker.

‘S 

ann 

le 

Calum a 

tha 

an cu
Cop 
in.3sm 
with 
Calum wh-C 
be.pres 
the dog

The dog belongs to Calum
Note: not in A&R, form volunteered by AZSGP speaker.

*Is 

an 

duine sin 
mòr.

cop.pres the 
man 
prox
big

‘That man is big.’

Note: UNGRAMMATICAL
*Is 

an 

cù 

leamsa.

cop.pres the 
dog 
with.1s.emph
‘The dog belongs to me.’

Note: UNGRAMMATICAL
Is 



tidsear 
Calum.

cop.pres 
teacher 
Calum

‘Calum is a teacher.’

Bu 

thidsear 
Calum.

cop.past 
teacher 
Calum

‘Calum was a teacher.’

Note: AZSGP speaker would never say this, says it is very old fashioned. From the 1800s

Is 


leamsa 


an cù.

cop.pres with.1s.emph 
the dog

‘The dog belongs to me.’

Note: Contextually loaded
*Is 


Calum tidsear.

cop.pres 
Calum teacher

‘Calum is a teacher.’

Note: UNGRAMMATICAL
*Is 

an 

tidsear 
Calum.

cop.pres
the 
teacher Calum

‘Calum is the teacher.’

Note: UNGRAMMATICAL
*Is 

Calum an tidsear.

cop.pres Calum the teacher

‘Calum is the teacher.’

Note: UNGRAMMATICAL
*Is 

mòr duine.

cop.pres big 
man

‘A man is big.’

Note: UNGRAMMATICAL
’S 


e 

Calum an 
tidsear.

cop.pres
3sm 
Calum the 
teacher 

‘Calum is the teacher.’

’S 


e 

Iain Hamlet a-nochd.

cop.pres 3sm 
Iain Hamlet tonight

‘Iain is (playing) Hamlet tonight.’

*’S 

e 

Hamlet Iain a-nochd.

cop.pres 3sm 
Hamlet Iain tonight

‘Iain is (playing) Hamlet tonight.’

Note: UNGRAMMATICAL
*’S 

e 

Cicero Tully.

cop.pres 3sm 
Cicero Tully

‘Cicero is identical to Tully.’

Note: AZSGP speaker says this is ok and is very clear on this

Note: UNGRAMMATICAL
’S 


e 

Cicero agus 
Tully an aon duine.

cop.pres
3sm 
Cicero and 

Tully the one man

‘Cicero and Tully are the same person.’

*Chunnaic 
Mairi an 
uair 
sin 

Iain.

see.past 

Mairi the 
hour 
dist 
Iain
‘Mary saw Iain then.’

Note: "certain temporal and speaker-oriented adverbs are barred from appearing between the 

subject and object in a transitive sentence" p341

Note: UNGRAMMATICAL
Chunnaic Mairi 
Iain 
an uair sin
see.past

Mairi
Iain 
the hour dist
Note: not in A&R, form volunteered by AZSGP speaker.

*Chunnaic 
Mairi gu 
fortanach Iain.

see.past 

Mairi adv
fortunately Iain
‘Mary fortunately saw Iain.’

Note: "certain temporal and speaker-oriented adverbs are barred from appearing between the 

subject and object in a transitive sentence" p341

Note: UNGRAMMATICAL
B’ 


e
 
Mairi 
an 

uair 
sin 
an tidsear.

Cop.past

3sm
past 

3sm 
Mairi dist 
the teacher

‘Mary was the teacher then.’

Note: AZSGP speaker doesn't like this sentence
B’ 


e 

Mairi
an 

tidsear 
aig 
an 

àm 
ud
Cop.past 
3sm
Mairi
the
teacher
at 

the 
time 
yonder
Note: not in A&R, form volunteered by AZSGP speaker.

‘S 



e 

Mairi a' 

chaora 

Cop.pres 
3sm 
Mary the 
sheep.f

Mary is the sheep

Note: There is no pronoun agreement (unlike Irish it isn't 'S i Mairi an caora)
’S 


e 

Calum gu 
fortanach 
Hamlet a-nochd.

cop.pres
3sm
Calum adv
fortunately
Hamlet tonight

‘Calum is fortunately (playing) Hamlet tonight.’

Note: AZSGP speaker does not like adverb placement

Cò 
chunnaic 
thu?

who 
see.past 

2s
‘Who did you see?' or 'who saw you'
Note: "either the subject or the object of a transitive verb may be questioned or relativized 

upon" 341

Note: Ambiguous

Cò 
chunnaic
Calum?

who 
see.past 

Calum

‘Who saw Calum?’ or "Who did Calum see."
Note: "either the subject or the object of a transitive verb may be questioned or relativized 

upon"

Note: Ambiguous
Cò 
an 

tidsear?

who 
the teacher
Who is the teach
Note: seeking the answer: 'S e Calum an tidsear.
Note: 2nd DP extracted, unambiguous 

Cò an Hamlet?

who the Hamlet
Who is the Hamlet?
Seeking the answer: 'S e Calum Hamlet.

Note: 2nd DP extracted, unambiguous 

??Cò Calum?

who Calum

Who is Calum

Seeking the answer: 'S e Calum an tidsear

Note: 1st DP extracted, A&R report as odd 

Note: AZSGP speaker reports as acceptable
Cò 
an 

tidsear?

who 
the
teacher

Who is the teacher

Answer: 'S e Calum an tidsear.

Answer: *'S e an tidsear Calum.

Chunnaic 
Màiri Iain.

see.past 

Mairi Iain
‘Mary saw +Iain.’

Note: Informational focus in these constructions goes on right most stressable item. In this case Iain.
Tha 

mi a’ 

lorg 

tidsear.

Be.pres 
1s prog
seek.vn 
teacher

‘I am looking for a teacher.’

Note: "Bare determinerless nominals in SACs can have the meaning of either a nonspecific 

indefinite or a specific indefinite." 346

Bha 

tidsear 
ann 
[an seo] 
a-raoir.

be.past 
teacher 
in 

[here] 
last night

‘There was a teacher here last night.’

Note: "Bare determinerless nominals in SACs can have the meaning of either a nonspecific 

indefinite or a specific indefinite." 346

Note: Fixed gloss (deleted 'in')
Tha 

Calum 
’na 



thidsear.

be.pres 
Calum 
in.3sm.poss

teacher

‘Calum is a teacher.’

Dh’fheuch 

mi ris 

an 

leabhar 
a 

leughadh.

try.past 


1s 
with.def the 
book 

tran
read.vn
‘I tried to read the book.’

Dh’fheuch 
mi ri 

leabhar 
a 

leughadh.

try.past 

1s 
with 
book 

tran 
read.vn
‘I tried to read a book.’

Dh’fheuch 
mi 
ri 

esan 


a 

bhualadh.

try.past 

1s 

with
3sm.emph 
tran 
hit.vn
‘I tried to hit HIM.’

Is 



mise 

Catriona.

cop.pres 
1s.emph
Catriona

‘I am Catriona.’

Is 


iadsan 
na 

h-oileanaich.

cop.pres 3p 

the 
students

‘They are the students.’

*Tha 

Calum mise.

be.pres 
Calum 1s.emph

‘??Calum is me.’

Note: UNGRAMMATICAL
Tha 

e 

'na 


Einstein [an diugh].

be.pres 
3sm 
in.3s.poss 
Einstein [today]
‘He’s being an Einstein today.’

Is 



tidsear 
Calum.

cop.pres 
teacher 
Calum

‘Calum is a teacher (by nature or vocation).’

’S 


e 

Calum.

cop.pres
3sm 
Calum

‘It’s Calum.’ 

Note: 'The relevant distinguishing property associated with some contextually salient 

individual’ holds of ‘Calum’. - p352

Note: AZSGP speaker does not like this sentence.
’S 


e 

Calum Hamlet.

cop.pres 3sm 
Calum Hamlet

‘Calum is Hamlet.’

’S 


e 

dithis oileanach 
na gaisgich.

cop.pres 3sm 
two 
student 

the heroes.pl

‘A pair of students are the heroes.’

Note: corrected spelling of gaisgich.

’S 


iad 
na 
gaisgich 

dithis oileanach.

cop.pres 3p 
the heroes.p 
two 
student

‘The pair of students are the heroes.’

Note: AZSGP speaker doesn’t like this at all, she likes e instead of iad

*’S 

e 

Daibhidh 
tinn

cop.pres 3sm 
David 

sick

‘It’s David who is sick
Note: Ungrammatical
*’S 

e 
Daibhidh 
tidsear.

cop.pres 3s David 

teacher

‘It’s David who is ateacher/the teacher.’

Note: Ungrammatical
’S 


e 

Daibhidh 
an tidsear.

cop.pres 3sm 
David 

the teacher

‘It’s David who is the teacher.’

